
1206. a) 2 + 5 + 11 +⋯+ (3 ∙ 2𝑛−1 − 1)⏟                    
𝑛 сабирака

= 𝑆𝑛 

 
𝑆𝑛 = 2 + 5 + 11 + 23 + 47 + ⋯+ (3 ∙ 2

𝑛−1 − 1) 
𝑆𝑛 = (3 − 1) + (6 − 1) + (12 − 1) + (24 − 1) + (48 − 1) + ⋯

+ (3 ∙ 2𝑛−1 − 1) 
𝑆𝑛 = (−1 − 1 − 1 − ⋯− 1)⏟              

𝑛−јединица

+ (3 + 6 + 12 + 24 + 48 +⋯+ 3 ∙ 2𝑛−1)⏟                          
𝑞=2 , 𝑎1=3

 

 

𝑆𝑛 = −𝑛 + 3 ∙
1−2𝑛

1−2
      𝑆𝑛 = 3 ∙ 2

𝑛 − 𝑛 − 3 = 3(2𝑛 − 1) − 𝑛 

 

1200. б)𝑆𝑛 = 1 −
1

3
+

1

32
−⋯+

(−1)𝑛−1

3𝑛−1⏟                
𝑛 сабирака

     𝑞 = −
1

3
 , 𝑎1 = 1 

 

𝑆𝑛 = 𝑎1
1−𝑞𝑛

1−𝑞
= 1 ∙

1−(−
1

3
)
𝑛

1−(−
1

3
)
=

1−(−
1

3
)𝑛

4

3

     𝑆𝑛 =
3

4
∙ (1 − (−

1

3
)𝑛) 


